THE FRUIT

What is it? Oznac spravnou odpovéd.

a) Itis an apple.
b) It is a grapes.
c) Itis a melon.

What is it? Oznac spravnou odpovéd.

a) Itis a grapes.
b) It is a cherries.
c) ltis alemon.

What is it? Oznac spravnou odpovéd.

a) Itis an apple.
b) It is a grapes.
c) Itis a melon.

What is it? Oznac spravnou odpovéd.

a) Itis a banana.
b) It is a strawberries.
c) It is a peach.
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What is it? Oznac spravnou odpovéd.

a) Itis an apple.

b) It is a strawberries.
c) Itis a lemon.

What is it? Oznac spravnou odpovéd .

a) ltis a pear.
b) It is a lemon.
c) ltis an apple.
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What is it? Oznac spravnou odpovéd.
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a) Itis a melon.
b) It is a banana.
c) Itis a strawberries.

What is it? Oznac spravnou odpovéd.

a) Itis a melon.
b) It is a banana.
c) It is an orange.
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What is it? Oznac spravnou odpovéd.
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a) Itis a plum.
b) It is a peach.
c) Itis an cherries.

What is it? Oznac spravnou odpoveéd.

a) Itis a melon.
b) It is a peneapple.
c) Itis a banana.




